So how would | use calculus on an interpolant?
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So how would | use calculus on an interpolant? (cont'd)

Give a matrix that takes two derivatives.

What is the observed behavior of the error when taking a derivative?
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What do the entries of the differentiation matrix mean?
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Can we simplify the proccess for equispaced x-coordinates?
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How would we use translation invariance with centered differences?
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What do we do at the edges?
) [, no data available
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How accurate are finite difference formulas? (\4"‘) = xrt
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Can anything else go wrong when we numerically compute derivatives?




Can we use a similar process to compute (approximate) integrals?
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quidrature weights
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So, once | know my nodes and my weights, what does quadrature look like?
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Can you do a full example?
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( 5 ) Combine it all together

[ 4

3V | 9)

3]
('~ :96:\ { ??)Q(?l"“”}\
() di = ,gg(»} \ i

Simpson's rule




What does Simpson's Rule look like on [0, 1/2]?

What does Simpson's Rule look like on [5, 6]?

How accurate is Simpson's rule?




